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A-Level Chemistry

Kinetics
(Multiple Choice)

Mark Scheme
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Marks available: 21 marks
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Mark schemes
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14.

B

There is no reaction to form water because the molecules do not
collide with sufficient energy.

There are no molecules with zero energy.

The rate of the reverse reaction increases.

At a given temperature their average kinetic energy is constant

The mean energy of the molecules is greater than the most probable
energy of the molecules
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At a fixed temperature their average kinetic energy is constant

There is an increase in the most probable energy of the molecules.
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